= O
N & o & AF &2 H Ml A
2011EE S0Iar 2BHSIH, JIEFSE A ASISRID ~ ALSI = XDt
SH: AEI=X D
M FHONE KA (ASSN/IIZMSST
Sl HASSMEEI S (el & 2
= o MuE o
SN-EHH . SH(BH) - HPAY - BE2 Ofl &+ 04 il b o B2
NEESn 1,213,570,497 1, 168,986,992 44,583,505
=2 857,592,538
= 33,065,371
Al 322,912,588
FHONE NAMNISN/IIZMHST) 936,368,990 914, 102,322 22,266,668
HUVSE : HAS ARl B35 23
= 791,352,134
= 5,606,000
Al 139,410,856
HASEMEHT 411,409,882 398, 765, 651 12,644,231
SDNNE 1:IEZME 23X 2438
SElEE 2T 9.6 %
= 366,569,214
= 5,606,000
Al 39,234,668
A0 290,984,786 302,537,239 A11,552,453
= 269, 144,511
Al 21,840,275
308 XHXISHHI SO & 290,984,786 302,537,239 A11,552,453
= 269, 144,511
Al 21,840,275
01 RXSHBABES 290,984,786 302,537,239 A11,552,453
420 290,984,786
= 269, 144,511
Al 21,840,275
=H20f 70,405,571 59,663,977 10,741,594
= 65,219,030
Al 5,186,541
308 XHXISHH SO & 70,405,571 59,663,977 10,741,594
= 65,219,030
Al 5,186,541
01 RXSHBABES 70,405,571 59,663,977 10,741,594
FHEH 70,405,571
= 65,219,030
Al 5,186,541
DEZ0 17,258,524 15, 181,566 2,076,958
= 15,960,821
Al 1,297,703
308 XHXISHH SO & 17,258,524 15, 181,566 2,076,958
= 15,960,821
Al 1,297,703
01 RXSHBABED 17,258,524 15, 181,566 2,076,958
RS20 17,258,524
=2 15,960,821
Al 1,297,703




A A= XD
BB NS N (A
l_C}._CI?_l I{_J‘\_EiAHiFO}—X‘lxl

SSMHEFEXE (¢t &
S EH . S(BH) - NEAY - B2 0fl Ak o ggi HDE2
oHAFE M2 1,612,062 1,458,959 153, 103

= 1,493,112
Al 118,950
308 AXIEHHI SOl 1,612,062 1,458,959 153,103
= 1,493,112
Al 118,950
01 IXSHHIBMNBEXZ 1,612,062 1,458,959 153,103
o AFE K2 O 1,612,062
= 1,493,112
Al 118,950
Ix==3 X 32L& X 9,071,144 0 9,071,144
= 9,071,144
308 AtXIEHAISOIA 9,071,144 0 9,071,144
= 9,071,144
01 AXESMBIAMNEXS 9,071,144 0 9,071,144
JZz+=32 N 242 &0l X& 9,071,144
= 9,071,144
AAAHES X280 XA 1,052,350 1,202,178 A 149,828
= 935,422
Al 116,928
308 AtXIEHHI SOl 1,052,350 1,202,178 N 149,828
= 935,422
Al 116,928
01 MHXSHHEBNEE= 1,052,350 1,202,178 N 149,828
A HSES =0l 1,052,350
= 935,422
Al 116,928
MNASF0 282X 5,338,321 3,683,885 1,654,436
= 4,745,174
Al 593, 147
308 AHXIEHHI SOl 5,338,321 3,683,885 1,654,436
= 4,745,174
Al 593, 147
01 MIXSHHEBNBEE= 5,338,321 3,683,885 1,654,436
2SN AS 5,338,321
2 4,745,174
Al 593, 147
HNASF0 2183325 30,000 50,000 A 20,000
307 2I12t0|A 30,000 50,000 A 20,000
01 Sl2¥2=H| 30,000 50,000 A 20,000
Al 2 HASF0 2Z371S 30,000
HNASZF0 EHXA 6,282,800 6,033,800 249,000
308 MXISHHSOIH 6,282,800 6,033,800 249,000




A AtSIE X 1
Hu: FOHE KA (ABISK/ I EMSER)
SR HASSMHEtE XA (¢t &
SA-EH O (BH) - HBAY - B2 Ofl A o4 dd = HRS2
O & 04
01 AIXESMINEBEZ 6,282,800 6,033,800 249,000
T2 AS FHUAHS AMUISEXN AL 5,979,280
2 S| 50,000%10,0000+ = 500,000
CNREHAZ 5,479,280
=& 60,000%8,641H x43| 2,073,840
- M 80,000%10,642%H *43| 3,405,440
AARAHZS AHIEGSXH ALY 303,520
2 S| 50,000%1,6002F**23] 160,000
M= PSEeE = 143,520
-SsHM 60,000%x238Y x4 3] 57,120
- M 80,000%270H x4 3] 86,400
HASF0 K& HdRFA 36,000 36,000 0
202 044l 4,000 4,000 0
04 =M HI 4,000 4,000 0
=M BERESL 88X A= 4,000
203 R =&H| 32,000 32,000 0
03 AIZFAHR =AY 32,000 32,000 0
HASE =A3d 30,000
Iz HRFX 2,000
AMNI=XNNESSRE X2 9,338,324 8,918,047 420,277
= 5,606,000
Al 3,732,324
201 Et24d| 7,000 15,000 A8,000
03 SHAIEGHI 7,000 15,000 A 8,000
AMISXNEHESRE HALH EEF 7,000
308 NAXHMSOIH 9,331,324 8,903,047 428,277
= 5,606,000
Al 3,725,324
01 AXEMINMNEEZ 9,331,324 8,903,047 428,277
AN =EXNEESRE o12H| 9,182,824
= 5,554,000
Al 3,628,824
MNIISXNEHESRE REX SARQAE XA 148,500
SAH| 5,000%225% %222 128 x50% 148,500
= 52,000
Al 96,500
HNAEE X (A2SHII=SELE S H) 463,263,839 455,678,991 7,584,848
SUXE 1 230 ==X Atell2e] o3
Sl SEX 8,600 H
= 369,546,657
Al 93,717,182
SIZTOAIY (R E) 455,191,273 441,738,727 13,452,546




SN
DHONE KR (AE=X/D)

el

X ZH
o=

At = X ot

ZHEEE)

HASEE A=2NE (A=2S0HIISSLSAH)

_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
= 364,153,019
Al 91,088,254
101 QI244| 55,772 0 55,772
= 44,617
Al 11,155
03 RIHAIZX2 4 55,772 0 55,772
LI A2ER B4 55,772
o=a 1,650,000%2% + 122 39,600
= 31,680
Al 7,920
£3 01yl 160,000+2% * 122 3,840
= 3,072
Al 768
RPN 7,400%30A1 2tx2 % #1221 5,328
= 4,262
Al 1,066
iesa s 291,800%2% + 122 7,004
= 5,603
Al 1,401
201 Yere | 1,614,980 1,537,500 77,480
= 1,291,984
Al 322,996
01 AtR2telt| 1,614,980 1,537,500 77,480
JBIHIR AANSLR 1,071,000
= 856,800
Al 214,200
B0 NABE ASLSE 543,380
= 434,704
Al 108,676
2SR RIS DR 600
= 480
Al 120
307 212H0|H 453,520,521 440,201,227 13,319,294
= 362,816,418
Al 90,704, 103
05 BI2teIEta 453,520,521 440,201,227 13,319,294
SEENESERRE 450,997,521
= 360,798,018
Al 90, 199,503
ALMBRTY| Ol 2,493,000
= 1,994,400
Al 498,600
JABZCARK 1S 30,000
= 24,000
Al 6,000
O ZZOIA (XIR) 6,742,048 6,742,048 0
= 5,393,638




SN
NS KR (AE=RIIEMERT)
£l

X ZH
o=

At = X ot

HASEE A=2NE (A=2S0HIISSLSAH)

SN EE - ER(EN) - NRAY - BaS sl e HlRE2
Al 1,348,410
308 XXIEHHSOIA 6,742,048 6,742,048 0
= 5,393,638
Al 1,348,410
01 IXSHHBABES 6,742,048 6,742,048 0
SN ESETNCES 6,742,048
= 5,393,638
Al 1,348,410
=0 HRFT 17,725 13,865 3,860
201 Let2d| 9,500 9,500 0
01 AtR22lb| 9,500 9,500 0
IBSHAMY 2= HH 100%65, 00004 6,500
=AY XIE M & 10,000+300% 3,000
202 O4H| 1,365 1,365 0
01 =Wl 1,365 1,365 0
AR R 75,800+«3F «2 «33] 1,365
203 YRF&Hl 1,000 1,000 0
03 AIMZ=XHR=EH| 1,000 1,000 0
B0 AIMPEFA 1,000
303 &z 2,000 2,000 0
01 Z&3 2,000 2,000 0
IZESHAMY - EZaS 2,000
ZR 1,000
P 1,000
405 AHeHESHI 3,860 0 3,860
01 T =S FH SHI 3,860 0 3,860
dEE FFH 1,600,000+2CH 3,200
HANE 330,000%2KI E 660
ol gl gl 1,312,793 7,184,351 A5,871,558
801 OllHIbl 1,312,793 7,184,351 Ab5,871,558
01 oilgldl 1,312,793 7,184,351 A5,871,558
(1 i=1ll=] 1,312,793
MASIt X2 61,695,269 59,657,680 2,037,589
SN HE 1 NEMY 80 =i HEHdSE
O3S =HEX : 10.3 %
= 55,236,263
Al 6,459,006
NE22AS 46,852,583 45,603, 151 1,249,432
= 43,379,600
Al 3,472,983
308 XX EHHSOIH 46,852,583 45,603, 151 1,249,432




S A= XD
Ha: HUNE NA(MASN/IIZNEST)
Selr HASIHR XHEX S (649l &2
_ _ _ Muo
SA - SR(E) - HRAY - BES 0 & 24 i HIRE
= 43,379,600
Al 3,472,983
01 MHXSHZA2EZ 46,852,583 45,603, 151 1,249,432
XE2E2 A 46,852,583
= 43,379,600
Al 3,472,983
Cg S A 98,835 9,413 2,422
= 82,968
Al 15,867
308 XHXIEHH SOl 98,835 9,413 2,422
= 82,968
Al 15,867
0 IXESHALSES 98,835 9,413 2,422
CgsAY 29 30,735
= 28,488
Al 2,247
OIS A AADI2 X8 68, 100
= 54,480
Al 13,620
NEDERISINE:! 3,811,680 3,427,744 383,936
= 2,668,176
Al 1,143,504
308 XXIEHH SO 3,811,680 3,427,744 383,936
= 2,668,176
Al 1,143,504
01 HXCSHBAEES 3,811,680 3,427,744 383,936
NeiRe e 29 3,811,680
= 2,668, 176
Al 1,143,504
REHEH DY =X+ 245,280 243,240 2,040
308 XXIEHH SO 245,280 243,240 2,040
01 IXCSHBLEES 245,280 243,240 2,040
EHEH HY SN+ 245,280
55 20| 4 170,000+ 116 * 122 236,640
5S =012+ 10015 ARTHEX)
120,000+6 % * 122 8,640
nEASTH 3,006, 147 3,117,936 A111,789
= 2,782,012
Al 224,135
308 XHXIEHH SO 3,006, 147 3,117,936 A111,789
= 2,782,012
Al 224,135
01 IXCSHBLEES 3,006, 147 3,117,936 A111,789
THEASTH 3,006, 147
= 2,782,012




©OARRI =X

DHAANES N (ARSI =2
5

CRASIH AERE

SNBSS - MEAY - BES

[
2

=1

B
2

Al

224,135

= W

—

,469,288

,210,000
259,288

—

1,469,286

= W

—

,469,288

,210,000
259,288

—y

1,469,286

1,469,288
,469,288

,210,000
259,288

1,469, 286

= W

431,523

302,066
129,457

432,000

NATT

307 G12+0l &

= W

431,523

302,066
129,457

432,000

NATT

=

431,523
431,523

302,066
129,457

431,523

Altzeld TEAIEAY

= W

2,785,128

2,228,102
557,026

2,721,494

63,634

307 GI12told

= W

2,785,128

2,228,102
557,026

2,721,494

63,634

= W

2,785,128
2,785,128

2,228,102
557,026

2,785,128

= W

2,910,805

2,583,339
327,466

2,462,416

448,389

= W

2,910,805

2,583,339
327,466

2,462,416

448,389

= W

2,910,805
2,910,805

2,583,339
327,466

2,462,416

448,389

84,000

84,000

2,000

2,000

2,000
2,000

2,000




SN A= R D
HH: FOAHE KN (AMSSN /DI ZHBLE)
CHRlr MASIHD XX (crol M
- _ _ HEE
SN -BH - S(B) - MRAY - BES 0f &k il b o HRE2
307 912+0| & 82,000 82,000 0
10 ABI=XE2E 82,000 0 82,000
SARHESHOLE BAL K| 10,000
TEHEA GYORICHAT2IY 29 72,000
XIS ALSI SR AHIA K2 (AFBI =X /FHAH ST ) 50,481,269 45,788,114 4,693,155
HSD2E : NGABI=X A 25
= 13,900,640
= 5,624,948
Al 30,955,681
AMEI=ZTIAIE R 26,071,780 23,873,200 2,198,580
SBNE 1: ASEXNT IIS2Y Has
ST SHX ;18 HA
= 4,821,948
Al 21,249,832
ABlEXZ S X 26,071,780 23,873,200 2,198,580
= 4,821,948
Al 21,249,832
308 XXl EHH SOl & 23,021,780 22,193,200 828,580
= 4,651,948
Al 18,369,832
01 MHXESHHBLEES 23,021,780 22,193,200 828,580
A= 2 18,959,400
ABIEXI2 29| 17,951,640
= 4,071,948
Al 13,879,602
e =X4Y 1,007,760
552014 170,000+494% + 122 1,007,760
= 400,000
Al 607,760
WI=SXEAME 29 3,922,380
ME 29l 69,345,000+520 3,605,940
= 90,000
Al 3,515,940
N 2X+Y 316,440
552014 170,000% 153 * 122 312,120
2 9,000
Al 308, 120
-55 201210015 AFHE )
120,000+3% * 122 4,320
= 1,000
Al 3,320
AMBIEX 2 JISEE(SHSHAY =X
50,000, 000%27H 2 100,000
= 80,000
Al 20,000
Wolsesxz 2o 40,000




S AMSEX D
M XEAB 2R AMEIA X2 (A2 /FHSHSKH)

2l AMSSXAIE K& (&t
S HEM O (S H) - HIRAY - BAS Of) & o4 dE = Hm=2
- e ° T EEREES = 04”:"% ree
403 XX ESHHSXH20|M 3,050,000 1,680,000 1,370,000
= 170,000
Al 2,880,000
01 KIXIEHAE2E X 3,050,000 1,680,000 1,370,000
AN 2X & JIsE2 550,000
= 170,000
Al 380,000
HHSBE A=A HE 2,000,000
SIHIZESAISIEX 2 = 500,000
XNE2XNASE 23 19,911,416 16,484,472 3,426,944
AUXE1: X FSIMNHIASEXIAIE &9 A
ol 28X 41 A
= 12,355,544
= 66,000
Al 7,489,872
KA MBI A EXFAISG (KRS ) 11,739,765 4,890,428 6,849,337
= 8,733,454
Al 3,006,311
308 AFXIEHHISOI ™ 11,739,765 4,890,428 6,849,337
= 8,733,454
Al 3,006,311
01 IXESHHINEXZ 11,739,765 4,890,428 6,849,337
KA MU AERAFS (KL ES) 11,739,765
CZETMIMESE A= 7,565,714
= 5,296,000
Al 2,269,714
JIZXMIMEESE AFE =X 4,174,051
= 3,437,454
Al 736,597
KA MBI A EXAIS (KA SHERS) 3,393,348 8,062,857 A4 ,669,509
= 2,375,344
Al 1,018,004
308 AHXIHASOIA 3,393, 348 8,062,857 A4 ,669,509
= 2,375,344
Al 1,018,004
01 AIXEHBABEXZ 3,393,348 8,062,857 A4 ,669,509
KEALSIMEIA EXRAIY (KIS AERS) 3,393,348
= 2,375,344
Al 1,018,004
KNAAS MBI AERAIE 2 (RE) 130,000 80,000 50,000
307 QIz2tol & 80,000 80,000 0
10 AISIEXE X 80,000 0 80,000
SEAMXNIAISHBIAXNKLAEH 29 80,000
401 AlEHIZLE0HY] 40,000 0 40,000




AT MEISX
A XAAMS=ZXNMEIA XZ(ASZX/HLHSIE)

SH9l: XIS RIAIS 23 (crel @
SAN-ZH-SA(FA) - NFAY - BES Off &F oK gl,liafg Hlw &2

01 Al&Hl 40,000 0 40,000
SAXISAS MEIAXIRAIE & 40,000

405 XtobE S| 10,000 0 10,000

01 RHaUBEF S| 10,000 0 10,000
SAXAAS MBI AT RME SE2AY 10,000

KIS AE MBI ASRIAY 29 (XI8) 416,887 0 416,887
= 416,887

201 Yer2oy| 33,887 0 33,887
= 33,887

01 At22telt| 33,887 0 33,887
THAS MBI AETIAY 2 33,887
= 33,887

307 ©I2H0I M 360,000 0 360,000
= 360,000

10 AHSI=XEX 360,000 0 360,000
SMXIGAS MBI AT RME 29 360,000
= 360,000

308 XXl EHHISOIH 23,000 0 23,000
= 23,000

01 RXESHBALES 23,000 0 23,000
XA AE NI ASTIAIY 29 23,000
= 23,000

MNEZXESMEAHSRAR 2 1,123,424 1,090,710 32,714
= 748,949
Al 374,475

308 X+l EHHIS O 1,123,424 1,090,710 32,714
= 748,949
Al 374,475

01 RXSHBARES 1,123,424 1,090,710 32,714
MBI ZXES M AHSQRAXI 1,123,424
= 748,949
Al 374,475

zengos))| 160,000 0 160,000

201 Yer2oy| 160,000 0 160,000

01 At2elt| 160,000 0 160,000
Ze0Sos)l NFMH 25 160,000

NA=TAY XIS (RE) 2,131,827 1,989,677 142, 150

201 Yer2ey| 39,250 29,500 9,750

01 At22t2It| 39,250 29,500 9,750
A= X19 & Olg 3,600
ABISXIZSM SN Q14 3,000+30004 900
ANEZXSDT BT HME 150,000+ 1674 2,400

_10_
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SN

X ZH
o=

oLk

At = X ot

D KNGMESRMEIA X (ASSX/FHAHSKH)

NS =S XA 23t

_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Aol Ofl At ot Hws2
= 80,910
= 66,000
Al 669,255
201 ety 200,000 0 200,000
01 At 2l 200,000 0 200,000
ZEO & 100,000, 000204 A 200,000
308 XHXIEHHI SO 616, 165 370,800 245,365
= 80,910
= 66,000
Al 469,255
01 RXESHBALES 616, 165 370,800 245,365
ZAECYT 29y 30,800
= 5,000
Al 25,800
JIEZCEHW3 2 2,000,000+ 1674 £ 32,000
= 16,000
Al 16,000
ZoO 2 50,000, 000%67 £ 300,000
AFSI = XAl LR SA|
110,000+ 1002 * 122 132,000
= 45,000
Al 87,000
ZZENHLHH HA 121,365
= 80,910
Al 40,455
L BUMET 25 1,942,839 1,969,721 126,882
SBXE 1 &x0l IarE) A4
S E SHE ¢ 1,000 A
= 737,000
Al 1,205,839
L85 (RA) 143,800 133,200 10,600
= 52,000
Al 91,800
301 LptEAZ 3,800 0 3,800
12 JIEH2 A3 3,800 0 3,800
HE =0l 3,800
NEY 3,000
e 800
307 QI2H0IE 140,000 130,000 10,000
= 52,000
Al 83,000
NIEEEEETR 140,000 130,000 10,000
Czol NE 140,000
= 52,000
Al 83,000




AT MEISX
A XAAMS=ZXNMEIA XZ(ASZX/HLHSIE)

CHRl: o BYMEN 25 (crel M
_ _ _ ez
ST G(SH) - NREAY - BES Off &+ o4 0l At o HDZ2
L2025(XY) 1,547,519 1,596,264 148,745
= 600,000
Al 947,519
308 XXl EHXI SOl & 1,503,019 1,553,564 50,545
= 600,000
Al 903,019
01 HXSHBAHEES 1,503,019 1,553,564 150,545
L0 25 1,464,619
CLER0IHES 22I(6)42) 1,082,651
2 500,000
Al 582,651
ClomolAe B S ME (2 A) 214,608
2 100,000
Al 114,608
S0 SZERR S| 89,000
CH =Xag 78,360
552014 170,000+37 2 « 12 75,480
-55 20I8H( 110015 ARHEX)
12000022 » 122 2,880
farTA o2H X 30,000
LEXTA BELAC FSHl  700,000¢128 8,400
403 [XSHHS K201 H 44,500 42,700 1,800
01 XISHAEEE 44,500 42,700 1,800
CH0IHE S BAMLAY 44,500
UL 251,520 240,257 11,263
= 85,000
Al 166,520
308 XiXIEHH SOIH 251,520 240,257 11,263
= 85,000
Al 166,520
01 HXSHBARES 251,520 240,257 11,263
ZYME T X 251,520
ZU A A X2 235,200
= 85,000
Al 150,200
xel Sxag 16,320
552014 170,000+8% » 122 16,320
fa0I8s 2,565,234 3,460,721 905,487
I=R=1Je]] s al = 2H Xt ol
sonE 1 T2 WE 2 jEpZzIE O o
Yol E S HX ;65,000
= 1,545,096
Al 1,010,138
SUNL 2Y(BXE) 2,103,709 1,936,096 167,613




S AEI =R D
M NAASSXMHIA N (ASISX/FHAHESTE)
ool RS (e & e
- _ _ PSS
SN EHHMS(BA) - MRAD - BES Off &F 4 0l At o Hn=2
= 1,472,596
Al 631,113
308 NXISHHSOIH 2,103,709 1,936,096 167,613
= 1,472,596
Al 631,113
01 XM EXS 2,103,709 1,936,096 167,613
fYoNLRY 2,103,709
= 1,472,596
Al 631,113
SYOANE 2F(XHA) 306,525 307,025 A500
308 MXIHHSOIH 306,525 307,025 A500
01 MXEHMISELS 306,525 307,025 A500
SYOANY X 306,525
AL 2EH 154,010
el =2X4Y 146,640
-5 80l& 220,000%54H «12& 142,560
-552012H(' 10015 AFHE )
170,000+2% 123 4,080
MBI FSE ARH Y ZHDAL 5,875
SUANY JsEY 145,000 1,217,600 ~1,072,600
= 72,500
Al 72,500
403 X SHMSAH201H 145,000 1,217,600 A 1,072,600
= 72,500
Al 72,500
01 XM= E X 145,000 1,217,600 A1,072,600
SACNL JsEY 145,000
= 72,500
Al 72,500
HOHI=R KN (AMBSX/HLHSKE) 130,683,815 117,343,235 13,340,580
HSDSE A= BN
= 52,339,764
&2 21,074,423
Al 57,269,628
HOHQISAl QEete= 4,095,098 2,887,078 1,208,020
ADXE 1 DR ME - MNATEAL &5 4
golEE SEX 2 i
= 1,743,181
=2 70,000
Al 2,281,917
QA MEANL JIs2L 2,118,034 1,762,000 356,034
= 1,059,017
Al 1,059,017
403 XX SHSKH20IH 2,118,034 1,762,000 356,034
= 1,059,017




SN

X ZH
o=

el

At = X ot

D HOHAUSEX XA (MIISX/HAHNEXH)

=X ooetEs

SN HB - S2(3H) - MEAY - BAS Abol e
Al 1,059,017
01 RIXISHMAZ2E X 2,118,034
ZIOHQIME AL JIsSEZ(7THA) 2,118,034
= 1,059,017
Al 1,059,017
SOOI ATHEAAE JDIsEY 1,368,328
2 684,164
Al 684,164
403 NXISHHS =01 1,368,328
2 684, 164
Al 684, 164
01 AXIEHMAEEXR 1,368,328
ZOHQI R ATHEIAIA JIsEZ(5IHA) 1,368,328
=2 684, 164
Al 684,164
ZOHCIAIE &= 608,736
= 70,000
Al 538,736
403 XX SHHSKA=201H 608,736
= 70,000
Al 538,736
01 XIXSHA=2EER 608,736
Ol =X 2 HHE22 336,992
FEPREI=S K2 69,070
SAFOCI S X2 20,568
AbAF A oI = K| 2 56,000
- AFGF A0 o1 2 K| 2 10,284
- ScHR eI =X & 56,000
- SERH0MI S 2 69,070
- J|EHO I =X 2 56,000
oI sX2 JlsE2d 180,831
AFGF &) o1 2 K| 2t 30,510
SALE ORI = K| =2 89,821
SatrgHEX 2 60,500
SOHQI KIS AL THEAI A el 70,000
= 70,000
Ol MSAIE AHEY 20,913
SSFe|AEL=AMEH 20,913
ZOHCI=Z2XIAIE X 46,149,257
SADNE 1 EOH;’_;XL%%N? PR R =
gl 2EX 2 A
= 175,365
= 20,864,423
Al 25,109,469
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SN
D DOA=X KR (ASISX/HAASTR)

el

X ZH
o=

At = X ot

U =XAIE X

_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES (il & OH '@,‘;OH Hos
ZONOI M AFZEHONAIE XA (B X) 138,413 138,413 0
= 55,365
Al 83,048
308 XXISHHISOIN 138,413 138,413 0
= 55,365
Al 83,048
01 AXSHBLHEERZ 138,413 138,413 0
ZOHQIAALE THIHAIE 29 138,413
= 55,365
Al 83,048
ZHONOI M AFZEHONAI S XI2 (KHA) 24,120 9,120 15,000
308 XX SHHSO0IA 9,120 9,120 0
01 UHXSHBAEES 9,120 9,120 0
O MASEIAIE B3 SX=Z
190,0002 x4« 122 9,120
403 XHXIESHHIS K20l A 15,000 0 15,000
01 XIS E 15,000 0 15,000
HOHCIMASTHONAIL EtEXSE K& 15,000
EZZONQ KYMEHE XA 300,000 300,000 0
= 120,000
Al 180,000
308 A+XI XS0l 300,000 300,000 0
= 120,000
Al 180,000
01 UHXSHBAEES 300,000 300,000 0
SST0Y NSHEMEH X 300,000
= 120,000
Al 180,000
ESZONC KYMSHE Al X2 250,000 100,000 150,000
308 XXISHRISOIA 250,000 100,000 150,000
01 AXSHBMEES 250,000 100,000 150,000
STEQ RSHMEMEHXR 250,000
ZOHQIMEAIE 29 25,078,004 23,860,279 1,217,815
= 15,751,423
Al 9,326,671
308 XIXISHHISOIN 25,078,004 23,860,279 1,217,815
s 15,751,423
Al 9,326,671
01 MHXSHHBAEES 25,078,094 23,860,279 1,217,815
HOHQIMEASE 2H 24,818,494
oI A Y| 21,198,594
s 14,751,423
Al 6,447,171




=M ASI =X Dt
B2 Q=X KR (ASISX/HLHSTE)

S9OSR AL X (el a9
_ _ _ Muo
SA-E . S(E) - MEAY - BES 0 & 24 i HIRE
- 22|24l 1,662,190
=2 1,000,000
Al 662,190
CEY 2R e 1,938,960
-5530l& 220,000+600H 122 1,584,000
55201010018 ARHER)
170,000x174F x 128 354,960
NESEEX BSE AW U ALY
12,500%1,500% 18,750
ZoHQoY AIdESEHOHQ 2tAaldl K&
5,000+1,500H 7,500
OfRI0lE AIEESERl A X2
3,000%1,500H 4,500
NESEH0j 22 Xe
3,000%1,500H 128 54,000
NEESEHel gaA2REY T 27,600
NEZHO THEHEE 29
1,000,000%871 2 +12& 96,000
ZOH JI0I0F AESAE 23
20,000, 000%274 £ 40,000
oI MEsy 23 15,000, 000%2H 2~ 30,000
ZOHAXLMHEANE 2 3,503,285 2,966,640 536,645
= 850,000
Al 2,653,285
308 XX HHSOIA 3,503,285 2,966,640 536,645
&2 850,000
Al 2,653,285
01 AXEHINELS 3,503,285 2,966,640 536,645
ZOHQ MAMMEANE 2 3,171,325
- Q12| 2,606,035
2 750,000
Al 1,856,035
- Zel2g| 344,850
&2 100,000
Al 244,850
A EX==H 220,440
55 30l&f 220,000+58H « 123 1563, 120
-55=0/8H('1001F A RIS XL)
170,000+33F «12& 67,320
O ESH XH 281,960
MNPz S| 3,000+70H 252 52,920
- MOHEO0HQl SAHI 219,240
- ASMHE 140,000+70H 9,800
322N 24 22288 Y 50,000
ZOHXIGASTHEAE 2L 16,855,345 14,402,328 2,453,017
= 4,263,000
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=M ASI =X Dt
B2 Q=X KR (ASISX/HLHSTE)

Soll FOjUI=NAIL X (etol & e
_ _ - ez
SN HA(S) - HRAY - BES Off &k o 0l A o1 Hns2
Al 12,592,345
308 Xt EHHISOIH 16,855,345 14,402,328 2,453,017
= 4,263,000
Al 12,592,345
01 MXESHBLEES 16,855,345 14,402,328 2,453,017
Fohe=xz 2 9,672,991
o124t 7,442,251
= 2,500,000
Al 4,942,251
- 29| 1,552,500
= 500,000
Al 1,052,500
CHY =Xy 678,240
-55 20| 4 190,000+268 % * 12 611,040
-5520/8H'1001% ARTSI)
140,000+40% * 12 67,200
SO WII= X SAME 2 388,292
BT SAIME 2|
90,683, 000%47H £ 362,732
= 100,000
Al 262,732
mE =X 25,560
-55 20| 4 190, 00040 * 122 20,520
-5520/8H 10015 ARTHSI)
140,000+3% » 128 5,040
HRUNENS 2 XS (HHASE=T D) 25,750
QIS E SR B ALK 5,000
ZojeI=n 998 2,000
AAT BOHQIZ X2 KIS ZAAY 4,553
Foje ==Y 29 U 280,000
Foje =N 22 2Y 280,000
HR=R B H2EIISHAAY
2,000, 000% 1474 & 28,000
HHU=NEI2IY 2SN 434,000
BRHENE S (AAFR=T2) 5,000
A FOHO IIAE 0| THH ALY 38,000
== 15,000
Al 23,000
Ojol FALSAE 2 2,205,100
ZAH2SAE 2HH| 48,980,0008 #4100 & 2,008, 180
= 300,000
Al 1,708, 180
CHY =2X4Y 196,920
5520|144 190,000+79% * 122 180, 120
-5520/8H('10018 ARSI
140,000+ 10 * 12 16.800




SN
D DOA=X KR (ASISX/HAASTR)

el

X ZH
S =

At = X ot

U =XAIE X

L RE-E

- SHRI(EAH) - NEAY - BE=

ZOe HNESAE 2
(== =

&l 83,085,000%20H 2~

HE =X+
552014 190,000+4% * 122
55 2010H' 10012 AR XH)

140,000+42 122

33,915,000 374 £

[}
H =X4+g
3

525014 190,000+35E «12&
%D —

[2H('100IF ARIHEXL)
140,000+2Z 128

Ol 190,000%18H «12&

HE 29

Hel =) g
552014 190,000+ 18% * 128
5520210013 ARHER)

140,000+«4Z 128
SFCAE=HYH 24

- SFElAZ=MEH 2|

=
553 014 190,000%10E 128
140,000+3* 122

& 105,860, 000+67H 2~

=M

= [

= M

=M

=M

=M

= M

= M

182,010

166, 170

25,000
141,170
15,840

9,120

6,720

,338,015
,254,855

200,000

,054,855

83,160
79,800

3,360
213,100

55,000
158,100

511,360
470,320

185,000
285,320

41,040
41,040
682,920
635, 160

213,000
422,160

47,760
41,040

6,720
357,084

329,244

100,000
229,244

27,840
22,800

5,040
90,610

35,000
55,610

90,610

35,000
55,610

B
2

=2




SN
X XH .
S Tt

el

At = X ot

ZOHOI=X XA (AMSISX/FHAAHSKIH)

U =XAIE X

S - M. C9l(3 o B e -
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
R BRI 2 XJdH 23 175,950
OO SESXNANJALEH 29 125,000
L2EFH0M XA 77,455,880 70,301,097 7,154,783
ZAE 1 ZOHY X2l E=E =+
oS =SHEX 420 &
= 50,381,218
Al 27,074,662
FH= X2 11,608, 162 22,531,973 A 10,923,811
= 8,125,713
Al 3,482,449
308 XX SHHSOIA 11,608, 162 22,531,973 210,923,811
= 8,125,713
Al 3,482,449
01 AXNSMBMNEEXS 11,608, 162 22,531,973 A~ 10,928,811
EUE=) 11,608, 162
= 8,125,713
Al 3,482,449
FoHelAg Xa 34,171,703 15,374,853 18,796,850
= 23,920,192
Al 10,251,511
308 MXIHHMSOIA 34,171,703 15,374,853 18,796,850
= 23,920,192
Al 10,251,511
01 AXNSMBANEES 34,171,703 15,374,853 18,796,850
ZoeH3 34,171,703
= 23,920,192
Al 10,251,511
ZOoHel ol=zdl XI& 3,851,968 1,981,010 1,870,958
= 3,081,574
Al 770,394
308 MXIHHMSOIA 3,851,968 1,981,010 1,870,958
= 3,081,574
Al 770,394
01 HXSHMBLEXS 3,851,968 1,981,010 1,870,958
e o=l 3,851,968
= 3,081,574
Al 770,394
ZOHQIRHA &Hl XI& 82,904 91,365 A8,461
= 66,323
Al 16,581
308 MHXIHHMSOIA 82,904 91,365 28,461
= 66,323
Al 16,581
01 HXSMBLEXSZ 82,904 91,365 28,461
ZOHQI At W=l 82,904
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SN
D DOHQA=X KR (ASISX/HAASTR)

&

X ZH
S =

At = X ot

HASHOMO X2

SN CR(EH) - NRAY - BES

20
B
2

66,323
16,581

89,560

44,780
44,780

23,500

66,060

= W

89,560

44,780
44,780

23,500

66,060

= W

89,560

89,560

44,780
44,780

23,500

66,060

=

765,600

382,800
382,800

269,492

496,108

=

765,600

382,800
382,800

269,492

496,108

= W

765,600

765,600

382,800
382,800

269,492

496,108

= W

2,489,760

1,244,880
1,244,880

2,368,350

121,410

308 AXIEHHMSOIA

2,489,760

1,244,880
1,244,880

2,368,350

121,410

01 XHXIEHI

(=)
I HY =

oy
>

= W

2,489,760

2,489,760

1,244,880
1,244,880

2,368,350

121,410

= W

89,614

62,730
26,884

157,200

AB7,586

307 2120l &

89,614

62,730
26,884

157,200

AB7,586

05 212t

= W

89,614

89,614

62,730
26,884

157,200

AB7,586

W

13,946,817

9,762,772
4,184,045

17,699,424

A3,752,607

308 AXIEHHSOIA

13,946,817

17,699,424

A3,752,607

_21_




SN
X XH .
S Tt

el

NEEyn!
ZONI=X KA =X /HAHETIH)
HASHOR X2

_ _ _ Muo
SA - SR(E) - HRAY - BES 0 & 24 i HIRE
= 9,762,772
Al 4,184,045
01 HXSHBLEES 13,946,817 17,699,424 ~3,752,607
0ol HESEEXA(BISH) 13,739,457
= 9,617,620
Al 4,121,837
HOHQIZXIAIL AHYA 02 X2
270,000%64% * 122 207,360
= 145,152
Al 62,208
HOHOLS I SN R (X A) 494,160 179,880 314,280
= 345,912
Al 148,248
307 QI210|H 494,160 179,880 314,280
= 345,912
Al 148,248
10 ASI=XI8E 494,160 0 494,160
ZOHOIIE OIS LS XA 494,160
= 345,912
Al 148,248
ZOHOLS IS X2 (X1 2) 4,663,632 4,444,050 219,582
= 3,264,542
Al 1,399,090
308 XXl EHH SO0I & 4,663,632 4,444,050 219,582
= 3,264,542
Al 1,399,090
01 HXSHBLRES 4,663,632 4,444,050 219,582
HOHOIS HEXSX 4,387,632
= 3,071,342
Al 1,316,290
Al - B2 ZOHOl 22 RHHOl ofL SR 276,000
= 193,200
Al 82,800
ool BEIP ALY 79,000 67.000 12,000
= 79,000
308 XX EHH SOl & 79,000 67.000 12,000
= 79,000
01 HXSHBLEES 79,000 67.000 12,000
HOHQE R T DEA 79,000
= 79,000
HASEOIOIX 5,123,000 5,113,000 10,000
308 KXl EHH S OI & 5,123,000 5,113,000 10,000
01 HXESHBAREES 5,123,000 5,113,000 10,000
TOHQl THESY 3,960,000
SERHY HELX XL 1,163,000

_22_
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